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> > 
> > 

> > # 23SC-NUMBER SHAPE by H.E:
with plots :

m d 2 : o d 3 :for h from 1to 100 do  PNS d 0 : csd 0 :  hs d h : PNC d 0 : ns d 0 :
nc d 0 : cc d 0 :  hc d h :for x from 1 to floor log m hs C1 do  csd csC1 : Ms
d hs  mod m :  PNS d PNSCMs$sin cs$y : ns d nsC10csK1$Ms : hs

d
hsKMs

m
:od: for x from 1  to floor log o hc C1 do cc d ccC1 : Mod hc 

mod o : PNC d PNC CMo$cos cc$y : nc d ncC10ccK1$Mo : hc d
hcKMo

o
 :

od: print display plot PNS, PNC, y = 0 ..2$Pi , thickness = 3 , color = blue :
print : print NUMBER CG = h ns m 進数 , nc o 進数 :od:
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